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1. The term FTP stands for 5. A computer on Int:rnetil ider
"13-' Y

[A] File Transfer Program [A] c-mail address ol

IB] File Transmission Protocol [Bl street address ol

[C] File Transfer Protocol [C] IP address g
- __ j P F 1 %
[D] File Transfer Protection 4 [D] ‘None qﬁl‘ the above
¥ i) : Iql.‘ d i.- 23 *:
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2. Which of the [ullmuing statements is ¥ %Ehm of 1"'.. ,p.. £,  is nc

correct about the URL?
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|[A] URL is a software that connects to Al gu}m aaq 104 s A\
the Internet. ' : anc] Wk ol R Myl el ﬁ— Ay
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[C] URL is the domain name, v RIBE
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[D] Al of the above ol e
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‘3. The name given tu a document by the vl from
user is called n..:ﬂnru-..'lzuullﬂ:mﬁ-h
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4. All the deleted files go to ..L.._.-—l
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- . : \ ‘Data, =
M]_ recycle bin ) . ;“ {U nation
 [B] taskbar | e L JH‘*‘“”““ it
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9. The patterns of printed line on mogst
products are called

[A] OCR

[B] Scanners

|IC] Bar codes

D] None of the above

. Which one of the l'ul]owlng i. nnt a
principle of e-commerce?

[A] Privacy

[B] Integrity [oraralih, 16

[C] Authentication

[D] None of the above

[B] printer R
C] disk gl

[D] None of the ab wm'rﬁ
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‘speed of a pr
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14. Which of

]
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13. Which of the  following is n

browser? C o
|A] Firefox
_Iﬂ,!-'-"
[B] Opera -
0+ A _f
[C] Google Chrome
i
[D] Fedora
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17. 1 megabyie is equal to
IA] 1024 bytes
[B] 1024 kilobytes
[C] 1024 gigabytes

[D] 1024 kilobits

18. Choose the smallest memory
among the following : |

[A] Kilobyte

IB] Mecgabyte

[C] Terabyte o e
(M

[D] Gigabyte n N

19. In which of the following the
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generation an’"“’
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B] Electron tube st
[C] Electron ray = B

(D] Vacuum tube
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21. What is the speed
measured in?

[A] Nanoseconds
|B] Kiloseconds
] Gigahertz
D] Megabytes
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22. hmupufhuthuttuﬂlthn compu
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[B] line

)] None of the above
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'25. The most frequently used inltruutbm

. of a computer program h,m], to be
fetched from .

1A SUM

[A] hard disk

[B] ecache 'I"jf b L LT L !BI E

[CIARAM e e 119 |(CIRMEC
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33. In Excel, which one denoted a rang ' The ability to combine nam
from Bl through B5? {5 ey '

[A] B1-B5

[Bj ‘Bl : BS
[C] Bl to Bs

ID] B1 $ BS g

£

'34 Thc:lnm;h’g - % - i’:‘b ﬂ,m ‘,-1 _mﬁmh -\_."'E-:-I'..'-.I:I.'.
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____mh In.ﬂ replace ____ word a:

called

IA] spacing ._!. =

A B S e e Tl L T . e
¥ - .
= ol [D] None of the above
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35. We can ins -;,L'_ufﬂ:;:hi::.u;... |
[A] header
[B] footer C] Both |

lr.lll C
II.E:'i F_:Jl[ihi:t'-! e I_: Nar of the a! oV
LY - ___.."' ¥.
D] None of the above _
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6. Which of the -?‘----a.L..fu'-"““w-*ﬁ J Al ‘The virus Ls
MS Access database object? IA] The virus is a small progra

[D] Module D
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